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1. If the length and breadth of a rectangle are 14.00 cm and 8.00 cm respectively, the perimeter of the rectangle =
D C

A B

(i) 39.00 cm (ii) 49.00 cm (iii) 41.00 cm (iv) 44.00cm (v) 47.00 cm

2. If the length and breadth of a rectangle are 14.00 cm and 13.00 cm respectively, the area of the rectangle =
D C

A B
(i) 166.00 sg.cm (ii) 194.00 sq.cm (iii) 206.00 sq.cm (iv) 182.00 sg.cm (v) 155.00 sq.cm

3. If the length and perimeter of a rectangle are 17.00 cm and 56.00 cm respectively, the breadth of the rectangle =
D c

A B

(i) 14.00cm (ii) 6.00 cm (iii) 16.00 cm (iv) 8.00cm (v) 11.00 cm

4. If the length and perimeter of a rectangle are 18.00 cm and 70.00 cm respectively, the area of the rectangle =

D &

A B

(i) 289.00 sg.cm (ii) 306.00 sg.cm (iii) 334.00 sq.cm (iv) 300.00 sg.cm (v) 323.00 sg.cm



5. If the length and area of a rectangle are 6.00 cm and 30.00 sg.cm respectively, the breadth of the rectangle =
D C

[ |

A B

(i) 3.00cm (ii) 4.00cm (iii) 6.00cm (iv) 5.00cm (v) 7.00 cm

6. If the length and area of a rectangle are 17.00 cm and 136.00 sq.cm respectively, the perimeter of the rectangle =
D c

A B

(i) 47.00cm (ii) 53.00 cm (iii) 55.00cm (iv) 45.00cm (v) 50.00 cm

7. If the breadth and perimeter of a rectangle are 13.00 cm and 60.00 cm respectively, the length of the rectangle =
D c

A B

(i) 20.00 cm (ii) 14.00 cm (iii) 22.00cm (iv) 17.00cm (v) 12.00 cm

8. If the breadth and perimeter of a rectangle are 11.00 cm and 46.00 cm respectively, the area of the rectangle =
D C

A B

(i) 134.00 sg.cm (ii) 119.00 sq.cm (iii) 110.00 sq.cm (iv) 132.00 sg.cm (v) 159.00 sq.cm

9. If the breadth and area of a rectangle are 10.00 cm and 180.00 sqg.cm respectively, the length of the rectangle =
D C

A B

(i) 21.00 cm (ii) 23.00 cm (iii) 15.00 cm (iv) 13.00cm (v) 18.00 cm



If the breadth and area of a rectangle are 12.00 cm and 168.00 sg.cm respectively, the perimeter of the

" rectangle =
D C
A B
(i) 49.00cm (ii) 52.00 cm (iii) 47.00cm (iv) 55.00cm (v) 57.00 cm

11 If the perimeter and area of a rectangle are 64.00 cm and 240.00 sg.cm respectively, the length of the rectangle

D C

A B

(ii) 25.00 cm (iii) 17.00 cm (iv) 20.00cm (v) 23.00 cm

(i) 15.00cm

If the perimeter and area of a rectangle are 76.00 cm and 360.00 sqg.cm respectively, the breadth of the

" rectangle =
D C

A B

(i) 23.00 cm (ii) 13.00 cm (iii) 21.00 cm (iv) 18.00 cm (v) 15.00 cm
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